DU MPhil PhD in Anthropology

Topic:- DU_J18_MPHIL_ANTHRO

1) Where is Latetoli site? [Question ID = 4681]

1. Zambia [Option ID = 18721]

2.  Tanzania [Option ID = 18722]
3. Ethopia [Option ID = 18724]

4. Kenya [Option ID = 18723]

Correct Answer :-
. Tanzania [Option ID = 18722]

2) Structured Interview means
[Question ID = 4657]

1. Excess close-ended questions [Option ID = 18626]

2. All of these [Option ID = 18628]

3. Unchanging nature of language in questions [Option ID = 18627]
4, The fixed sequence of questions [Option ID = 18625]

Correct Answer :-
» All of these [Option ID = 18628]

3) Which of the given statement (s) is/are correct?
[Question ID = 4647]

1. Both Validity refers to the closeness of a finding to the reality and Reliability refers to the consistency of finding [Option 1D = 18587]
2. Validity refers to the closeness of a finding to the reality [Option ID = 18585]

3. Reliability refers to the consistency of finding [Option ID = 18586]

4, None of these [Option ID = 18588]

Correct Answer :-
« Both Validity refers to the closeness of a finding to the reality and Reliability refers to the consistency of finding [Option ID = 18587]

4) Field jottings, field notes, field diary and field log are [Question ID = 4656]

1. Data Reduction Methods [Option ID = 18624]
2. Data enhancing Methods [Option ID = 18622]
3. Data Management Methods [Option ID = 18623]
4. Data collection Methods [Option 1D = 18621]

Correct Answer :-
« Data Management Methods [Option ID = 18623]

5) Who wrote the book "Human Population Genetics"? [Question ID = 4669]

1. M. Kimura [Option ID = 18676]

2. C. Darwin [Option ID = 18673]

3. 1. H. Relethford [Option ID = 18675]
4, F. B. Livingstone [Option ID = 18674]

Correct Answer :-
. 1. H. Relethford [Option ID = 18675]

6) Allen’s rule stipulates that
[Question ID = 4683]

1. None of these [Option ID = 18732]
2. Body size is larger in warmer climates [Option ID = 18731]
3. Limbs of body are shorter relative to body size [Option ID = 18730]
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4, Limbs of body are longer relative to body size in warmer climate [Option ID = 18729]

Correct Answer :-
» Limbs of body are longer relative to body size in warmer climate [Option ID = 18729]

7) Down'’s syndrome is usually the result of [Question ID = 4673]

1. Tetrasomy of Chromosome 21 [Option ID = 18690]

2. Trisomy of Chromosome 21 [Option ID = 18692]

3. Trisomy of chromosome 14 [Option ID = 18689]

4.  Double trisomy of chromosome 14 & 21 [Option ID = 18691]

Correct Answer :-
» Trisomy of Chromosome 21 [Option ID = 18692]

8) If a woman with a normal vision, whose father was color blind, marries a normal-visioned man, what is the probability that their first
child will be color blind? [Question ID = 4626]

1. 1/8 [Option ID = 18503]
2. 1/2 [Option ID = 18501]
3. 1/16 [Option ID = 18504]
4, 1/4 [Option ID = 18502]

Correct Answer :-
« 1/4 [Option ID = 18502]

9) Which among the following has not studied an Indian Village? [Question ID = 4706]

1. McKim Marriot [Option ID = 18823]

2. Alan Beals [Option ID = 18824]

3. G.D. Berreman [Option ID = 18821]
4. Robert Redfield [Option ID = 18822]

Correct Answer :-
« Robert Redfield [Option ID = 18822]

10) Who has written the book "Molecular Evolutionary Genetics"? [Question ID = 4670]

1. T.Ohta [Option ID = 18680]

2. M. Nei [Option ID = 18678]

3. N. Morton [Option ID = 18679]
4,  E. Mayr [Option ID = 18677]

Correct Answer :-

11) In excavation what is Balk? [Question ID = 4712]

1. Ceiling layer [Option ID = 18848]

2. Unproductive layer [Option ID = 18845]

3. Layer free from human intervention [Option ID = 18846]
4. Section bearing portion [Option ID = 18847]

Correct Answer :-
» Section bearing portion [Option ID = 18847]

12) Select the correct sequence of techniques as per their main use in chronological order:
(a) Anvil technique , (b) Stone hammer technique, (c) Cylindrical hammer technique , (d) Grinding Polishing technique

[Question ID = 4661]

1. (a), (c), (d), (b) [Option ID = 18642]
2. (a), (b), (c), (d) [Option ID = 18641]
3. (c), (d), (b), (a) [Option ID = 18644]
4. (b), (a), (c), (d) [Option ID = 18643]

Correct Answer :-
« (a), (c), (d), (b) [Option ID = 18642]
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13) "Silent Trade" practice of economic exchange was present among [Question ID = 4703]

1. Tharu and Boxa [Option ID = 18811]

2. Raji and Kumaonese [Option ID = 18812]
3. Garo and Khasi [Option ID = 18809]

4. Oraon and Santhal [Option ID = 18810]

Correct Answer :-
» Raji and Kumaonese [Option ID = 18812]

14) A division or subset of a society based on shared age characteristics, as determined by the age grade system of that society
[Question ID = 4689]

1. Both Age set and Band [Option ID = 18755]
2. Band [Option ID = 18754]

3. Age set [Option ID = 18753]

4. None of these [Option ID = 18756]

Correct Answer :-
» Age set [Option ID = 18753]

15) What are the degrees of freedom for a sample with four phenotypes for chi-square test? [Question ID = 4623]

1. 2 [Option ID = 18491]
2. 1 [Option ID = 18492]
3. 3 [Option ID = 18490]
4, 4 [Option ID = 18489]

Correct Answer :-
= 3 [Option ID = 18490]

16) The book "Street Corner Society” (1943) is authored by [Question ID = 4694]

1. Oscar Lewis [Option [D = 18773]

2. Sol Tax [Option ID = 18776]

3. William Foote Whyte [Option ID = 18775]
4, Robert Redfield [Option ID = 18774]

Correct Answer :-
« William Foote Whyte [Option ID = 18775]

17) In archaeology human behaviour from the past is translated into
[Question ID = 4708]

All of these [Option ID = 18832]

Material culture [Option ID = 18831]
Dipositional process [Option ID = 18829]
Transformation process [Option ID = 18830]

Col e

Correct Answer :-
. All of these [Option ID = 18832]

18) According to Robert Chamber, different ways of analysing rural environments and rural deprivations are

[Question ID = 4644]

1. Underdevelopment, developing and development [Option ID = 18575]

2. Costs and choices, cause and constraints, opportunities and political feasibility [Option ID = 18574]
3. Inception, Implementation, appraisal [Option ID = 18573]

4. None of these [Option ID = 18576]

Correct Answer :-
» Costs and choices, cause and constraints, opportunities and political feasibility [Option ID = 18574]

19) According to Arnold Rose, the characteristic of "a good theory” is/are
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[Question ID = 4641]

1. Deducted hypothesis are not in ready testable form [Option ID = 18562]

2. Minimum number of definition and general proposition are adequate [Option ID = 18561]

3. All of these [Option ID = 18564]

4, Non-assumptions, and general proposition are not consistent in so far as possible with previous research findings [Option ID = 18563]

Correct Answer :-
» Minimum number of definition and general proposition are adequate [Option ID = 18561]

20) According to H. Russel Bernard, the kinds of experiments are:
[Question ID = 4650]

1. Habitual experiments, quasi-experiments and natural experiments [Option ID = 18598]
2. None of these [Option ID = 18600]

3. True experiments, quasi-experiments and natural experiments [Option ID = 18599]

4, True experiments, Negative-experiments and natural experiments [Option ID = 18597]

Correct Answer :-
= True experiments, quasi-experiments and natural experiments [Option ID = 18599]

21) Hawaiian System, generational type of kinship terminology was given by [Question ID = 4700]

1. 1.]. Bachofen [Option 1D = 18799]
2. H. Maine [Option ID = 18798]

3. L.H. Morgan [Option ID = 18797]
4. 1.F. McLennan [Option ID = 18800]

Correct Answer :-
» L.H. Morgan [Option ID = 18797]

22) Arrange the following in order as they appear in archaeological record:
(a) Intensive agriculture, (b) Incipient agriculture, (c) Intensive foraging, (d) Intensive hunting
[Question ID = 4710]

1. (a), (b), (), (d) [Option ID = 18837]
2. (d), (b), (2), (c) [Option ID = 18839]
3. (d), (c), (b), (a) [Option ID = 18840]
4, (¢}, (b), (a), (d) [Option ID = 18838]

Correct Answer :-
« (d), (c), (b), (a) [Option ID = 18840]

23) Which part of the Constitution of India contains "Scheduled and Tribal Areas” ? [Question ID = 4707]

1. Part X [Option ID = 18828]
2. Part V [Option ID = 18825]
3. Part XV [Option ID = 18826]
4. Part VII [Option ID = 18827]

Correct Answer :-
+ Part X [Option ID = 18828]

24) By which absolute dating method volcanic ash deposits of Olduvai gorge site has been dated? [Question ID = 4713]

1. Pollen analysis [Option ID = 18850]

2. Radio Carbon [Option ID = 18849]

3. Potassium Argan [Option ID = 18852]

4, Thermo luminescence [Option ID = 18851]

Correct Answer :-
= Potassium Argan [Option ID = 18852]

25) The process of acquiring a "second culture”, usually as an effect of sustained and imbalanced contact between two societies.
Members of the weaker society are compelled to adopt aspects of the dominant society. [Question ID = 4688]

1. Acculturation [Option ID = 18750]
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2. None of these [Option ID = 18752]
3. Assimilation [Option ID = 18749]
4, Enculturation [Option ID = 18751]

Correct Answer :-
» Acculturation [Option ID = 18750]

26) L.H. Morgan in his studies used
[Question ID = 4642]

1. (a) Genealogical technique [Option ID = 18565]
2. (d) Both (a) & (b) [Option ID = 18568]

3. (b) Content Analysis [Option ID = 18566]

4, (c) Participant observation [Option ID = 18567]

Correct Answer :-
» (a) Genealogical technigue [Option ID = 18565]

27) The normal distribution for a trait existing in a large population reveals that: [Question ID = 4622]

1. More individuals are found closer to the average value [Option ID = 18486]

2. Both More individuals are found closer to the average value and Fewer individuals possess the extreme genotype [Option ID = 18488]
3. All individuals are homozygous for that trait [Option ID = 18485]

4, Fewer individuals possess the extreme genotype [Option ID = 18487]

Correct Answer :-
» Both More individuals are found closer to the average value and Fewer individuals possess the extreme genotype [Option ID = 18488]

28) Sol Tax is associated with [Question ID = 4701]

1. Action Anthropology [Option ID = 18801]
2. Ecological anthropology [Option ID = 18803]
3. Urban Anthropology [Option ID = 18802]
4. Symbolic Anthropology [Option ID = 18804]

Correct Answer :-
« Action Anthropology [Option ID = 18801]

29) Conceptual definition is
[Question ID = 4653]

1. (a) Abstractions, articulated in words, that facilitate understanding [Option ID = 18609]

2. (d) None of these [Option ID = 18612]

3. (b) The sort of definitions we see in dictionaries, and we use them in everyday conversation to tell people what we mean by some term or phrase [Option
ID = 18610]

4. (c) both (a) & (b) [Option ID = 18611]

Correct Answer :-
« (c) both (a) & (b) [Option ID = 18611]

30) Storage is an economic strategy. Direct evidence of storage comes from [Question ID = 4662]

1.  Attirampukkam [Option ID = 18645]
2. Baghor [Option ID = 18646]

3. Mahadaha [Option ID = 18648]

4,  Harappa [Option ID = 18647]

Correct Answer :-
. Harappa [Option ID = 18647]

31) Who introduced the concept of 'Three Age System’ in pre-history? [Question ID = 4665]

1.  A. Ghosh [Option ID = 18658]

2. H.D. Sankalia [Option ID = 18657]

3. Christian Thomson [Option ID = 18660]
4. R. Alichin [Option ID = 18659]
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Correct Answer :-
» Christian Thomson [Option ID = 18660]

32) The three obligations mentioned in the book The Gift by Marcel Mauss are [Question ID = 4699]

1. Giving, receiving and repaying [Option ID = 18795]

2. Giving, receiving and depositing [Option ID = 18794]
3. Giving, lending and repaying [Option ID = 18793]

4. Sacrificing, receiving and repaying [Option ID = 18796]

Correct Answer :-
= Giving, receiving and repaying [Option ID = 18795]

33) Flower pollen present in Neanderthal burial was found in [Question ID = 4667]

1. Krapina Cave (Croatia) [Option ID = 18668]
2. Shanidar Cave (Iraq) [Option ID = 18666]

3. Olduvai Gorge (Africa) [Option ID = 18667]
4,  Kebara Cave (Israel) [Option ID = 18665]

Correct Answer :-
»  Shanidar Cave (Iraq) [Option ID = 18666]

34) "“Ethnography with a shovel” is also known as [Question ID = 4709]

1. Ethnology [Option ID = 18833]

2. Taphonomy [Option ID = 18835]

3. Site Catchment analysis [Option ID = 18836]
4. Ethnoarchaeology [Option 1D = 18834]

Correct Answer :-
» Ethnoarchaeology [Option ID = 18834]

35) Concepts of 'Bridge’ and 'Buffer' communities were given by: [Question ID = 4705]

1. L.P. Vidyarthi [Option ID = 18819]

2. 1.P. Singh [Option ID = 18820]

3. D.N. Majumdar [Option ID = 18818]
4, B.K. Roy Burman [Option ID = 18817]

Correct Answer :-
» B.K. Roy Burman [Option ID = 18817]

36) A type of sampling where each individual must have exactly the same chance as every individual of being selected
[Question ID = 4651]

1. Simple random sampling [Option ID = 18601]
2. Purposive sampling [Option ID = 18603]

3. Snowball sampling [Option ID = 18602]

4. None of these [Option ID = 18604]

Correct Answer :-
= Simple random sampling [Option ID = 18601]

37) What is the median of the following measured quantities?
10, 27, 11, 30, 25, 13, 20, 35,12,14 [Question ID = 4618]

1. 20 [Option ID = 18472]
2. 11 [Option ID = 18469]
3. 14 [Option ID = 18470]
4. 17 [Option ID = 18471]

Correct Answer :-
« 17 [Option ID = 18471]

38) What is the frequency of the 't’ allele in a population where 412 are tasters and 235 are non-tasters? [Question ID = 4677]

1. 0.60 [Option ID = 18706]

collegedunia:s

India’s largest Student Review Platform




2. 0.40 [Option ID = 18708]
3. 0.70 [Option ID = 18705]
4, 0.50 [Option ID = 18707]

Correct Answer :-
. 0.60 [Option ID = 18706]

39) What is chi-square used for? [Question ID = 4633]

1. In determining that the samples of the populations are random [Option 1D = 18530]
2. None of these [Option ID = 18532]

3. In determining the normal distribution of the population [Option ID = 18531]

4. In determining amount of deviation from given ratio [Option ID = 18529]

Correct Answer :-
» In determining amount of deviation from given ratio [Option ID = 18529]

40) What is mean fitness? [Question ID = 4635]

1. Darwinian fitness [Option ID = 18537]

2. Average fitness of all genotypes [Option ID = 18540]
3. Adaptive fitness [Option ID = 18538]

4. Phenotypic fitness [Option ID = 18539]

Correct Answer :-
« Average fitness of all genotypes [Option ID = 18540]

41) What is human growth? [Question ID = 4686]

1. Transformation of structure [Option ID = 18741]
2. A guantifiable change in size [Option ID = 18744]
3. Changes in hormones [Option ID = 18742]

4, Changes in skeletal structure [Option ID = 18743]

Correct Answer :-
= A quantifiable change in size [Option ID = 18744

42) What is mutation? [Question ID = 4637]

1. A random change in the genetic code [Option ID = 18548]
2. It is a genetic code [Option ID = 18545]

3. It is a chance fluctuation [Option ID = 18546]

4, It is a replication of chromosome [Option ID = 18547]

Correct Answer :-
* A random change in the genetic code [Option ID = 18548]

43) Coefficient of variance is dependent on: [Question ID = 4627]

1. 5 .D./Mean [Option ID = 18508]
2. Mode/S.D. [Option ID = 18506]

3. (S .D.)%/Mean [Option ID = 18505]
4, Mean/Mode [Option ID = 18507]

Correct Answer :-
+ 5 .D./Mean [Option ID = 18508]

44) The marriage practice of marrying "up" with a spouse in a higher status, class, or caste than oneself [Question ID = 4691]

1. Hypergamy [Option ID = 18764]
2. Sororate [Option ID = 18762]
3. Hypogamy [Option ID = 18763]
4. Levirate [Option ID = 18761]

Correct Answer :-
» Hypergamy [Option ID = 18764]

45) Any highly localized area of human use or modification in archaeoclogy is called a [Question ID = 4714]

1. Site [Option ID = 18855]
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2. Horizon marker [Option ID = 18853]
3. settlement [Option ID = 18854]
4, Territory [Option ID = 18856]

Correct Answer :-
= Site [Option ID = 18855]

46) The additive variance of a given trait in a population is 102 and total phenotype variance is 271.4. What is the heritability of the trait?
[Question ID = 4621]

1. 0.546 [Option ID = 18481]
2. 0.376 [Option ID = 18482]
3. 0.67 [Option ID = 18484]
4. 0.52 [Option ID = 18483]

Correct Answer :-
« (0.376 [Option ID = 18482]

47) The sickle cell trait is very predominant in a tribal population of India with 1000 members. How many of these would you expect to
be homozygous for the normal trait? [Question ID = 4676]

1. 5 [Option ID = 18704]
2. 640 [Option ID = 18701]
3. 40 [Option ID = 18703]

4, 320 [Option ID = 18702]

Correct Answer :-
+ 640 [Option ID = 18701]

48) If a pair of dice is tossed twice, what is the probability of obtaining five on both the sides? [Question ID = 4631]

1. 1/56 [Option ID = 18524]
2. 1/81 [Option ID = 18521]
3. 1/16 [Option ID = 18523]
4. 1/64 [Option ID = 18522]

Correct Answer :-
« 1/81 [Option ID = 18521]

49) Morung, the youth dormitory is associated with [Question ID = 4697]

1. Gond [Option ID = 18785]
2. Kuki [Option ID = 18788]

3. Maria [Option ID = 18786]
4, Naga [Option ID = 18787]

Correct Answer :-
= Naga [Option ID = 18787]

50) Probability sampling is known as: [Question ID = 4629]

1. Purposive sampling [Option ID = 18514]
2. Convenient sampling [Option ID = 18516]
3. Random sampling [Option ID = 18515]

4, Quota sampling [Option ID = 18513]

Correct Answer :-
» Random sampling [Option ID = 18515]

51) B. Malinowski's method of observations is/are
[Question ID = 4643]

1. Collective consciousness observations [Option ID = 18569]
2. Esprit de corps [Option ID = 18571]

3. All of these [Option ID = 18572]

4, The imponderabilia of actual life [Option ID = 18570]

Correct Answer :-
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= The imponderabilia of actual life [Option ID = 18570]

52) Who has written thebook "The Antecedents of Man” ? [Question ID = 4668]

1. W.W. Brown [Option ID = 18671]

2. W.E. Le Gros Clark [Option ID = 18669]
3. F. C. Howells [Option ID = 18670]

4. T.H. Huxley [Option ID = 18672]

Correct Answer :-
. W.E. Le Gros Clark [Option ID = 18669]

53) How is heritability of phenotype determined? [Question ID = 4632]

1. None of these [Option ID = 18528]

2. It is determined genetically [Option ID = 18525]

3. It is determined genetically and influenced by environment [Option 1D = 18527]
4, It is determined by environment [Option ID = 18526]

Correct Answer :-
= It is determined genetically and influenced by environment [Option ID = 18527]

54) Choose the coreect chronological order:
(a) Mindel, (b) Riss, (c) Wurm, (d) Gunj
[Question ID = 4663]

1. (a), (b), (c), (d) [Option ID = 18649]
2. (d), (a), (b), (c) [Option ID = 18652]
3. (d), (b), (2), (c) [Option ID = 18651]
4. (b), (a), (c), (d) [Option ID = 18650]

Correct Answer :-
« (d), (a), (b), (c) [Option ID = 18652]

55) Choose the correct sequence of tools in the chronological order:
(a) Cleaver (b) Lunate (c) Celt (d) Chopper
[Question ID = 4659]

1. (a), (d), (b), (c) [Option ID = 18634]
2. (d), (a), (b), (c) [Option ID = 18633]
3. (), (b), (a), (d) [Option ID = 18636]
4. (c), (b), (d), (a) [Option ID = 18635]

Correct Answer :-
« (d), (a), (b), (c) [Option ID = 18633]

56) When artifacts are found in an excavation it is known as [Question ID = 4715]

1. N-Transform [Option ID = 18859]
2. Secondary find [Option ID = 18857]
3. in situ [Option ID = 18858]

4, C-Transform [Option ID = 18860]

Correct Answer :-
= in situ [Option ID = 18858]

57) A population that is relatively heterozygous for a particular trait would show:
[Question ID = 4619]

1. No heritability [Option ID = 18475]
2. High heritability [Option ID = 18474]
3. Low heritability [Option ID = 18473]
4, None of these [Option ID = 18476]
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Correct Answer :-
« High heritability [Option ID = 18474]

58) The term Anomie, referring to a state of normlessness, was first used by [Question ID = 4693]

1. Emile Durkheim [Option ID = 18771]
2. Auguste Comte [Option ID = 18772]
3. Pierre Bourdieu [Option ID = 18769]
4. Herbert Spencer [Option ID = 18770]

Correct Answer :-
= Emile Durkheim [Option ID = 18771]

59) Gene frequencies will change if [Question ID = 4675]

1. Two of the four conditions are not met [Option ID = 18699]

2. One of the Hardy-Weinberg conditions is not met [Option ID = 18697]
3. None of the conditions are met [Option ID = 18698]

4, Three of the four conditions are not met [Option ID = 18700]

Correct Answer :-
» One of the Hardy-Weinberg conditions is not met [Option ID = 18697]

60) Social research may be defined as a scientific understanding which, by means of logical and systematised techniques, aims to
[Question ID = 4638]

1. Discover new facts or verify and test old facts [Option ID = 18549]

2. Analyze their sequences, interrelationships, causal explanations which were derived within an appropriate theoretical frame of reference [Option ID =
18550]

3. Develop new scientific tools, concept and theories which would facilitate reliable and valid study of human behaviour [Option ID = 18551]

4. All of these [Option ID = 18552]

Correct Answer :-
» All of these [Option ID = 18552]

61) Chenchu, Savara, Sauria Paharia and Korwa are some of the tribal communities identified as [Question ID = 4696]

1. Islands Tribes [Option ID = 18784]

2. Particularly Vulnerable Tribal Groups [Option ID = 18783]
3. Minor Tribes [Option 1D = 18782]

4, Major Tribes [Option ID = 18781]

Correct Answer :-
= Particularly Vulnerable Tribal Groups [Option ID = 18783]

62) BMI is estimated as ? [Question ID = 4678]

Weight in Kilogram over height in inches [Option ID = 18711]

Weight in Kilogram over height in meter square (m?) [Option ID = 18710]
Weight in pounds over height in inches [Option ID = 18709]

Weight in pounds over height in meter square (m?) [Option ID = 18712]

B R e

Correct Answer :-
«  Weight in Kilogram over height in meter square (m?) [Option ID = 18710]

63) Prehistoric Archaeology and Forensic Science generally make use of the following research method in their studies [Question ID =
4645]

1. Quasi Participant Observation [Option ID = 18579]
2. Structured Observation [Option 1D = 18580]

3. Direct Observation [Option ID = 18578]

4, Indirect Observation [Option ID = 18577]

Correct Answer :-
» Indirect Observation [Option ID = 18577]

64) Standard deviation measures: [Question ID = 4634]
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1. Binomial distribution [Option ID = 18533]

2. Describes normal curve [Option [D = 18535]

3. Dispersion around the mean in a frequency distribution [Option ID = 18536]
4, Center of frequency distribution [Option ID = 18534]

Correct Answer :-
» Dispersion around the mean in a frequency distribution [Option ID = 18536]

65) Villafranchian fauna is of [Question ID = 4658]

1.  Early Holocene period [Option ID = 18631]

2.  Upper Palaeolithic period [Option ID = 18629]

3. Beginning of Pleistocene period [Option ID = 18632]
4. Beginning of Pliocene period [Option ID = 18630]

Correct Answer :-
+  Beginning of Pleistocene period [Option ID = 18632]

66) Who discovered lucy? [Question ID = 4682]

1. L. Berger [Option ID = 18728]

2. P. Tobias [Option ID = 18727]

3. B. Kimbel [Option ID = 18726]
4, D. Johanson [Option ID = 18725]

Correct Answer :-
= D. Johanson [Option ID = 18725]

67) Australopithecus sediba was announced in :- [Question ID = 4679]

1. 2012 [Option ID = 18715]
2. 2011 [Option ID = 18714]
3. 2010 [Option ID = 18713]
4. 2015 [Option ID = 18716]

Correct Answer :-
« 2010 [Option ID = 18713]

68) PESA is applicable to: [Question ID = 4704]

1. Scheduled Area Groups [Option ID = 18815]

2. Particularly Vulnerable Tribal Groups [Option ID = 18813]
3. Island Groups [Option ID = 18816]

4. Matrilineal Groups [Option ID = 18814]

Correct Answer :-
» Scheduled Area Groups [Option ID = 18815]

69) Who are nicked name "nutcracker man"? [Question ID = 4680]

1. Robust Australopithecine [Option ID = 18720]
2. Neandertal man [Option ID = 18719]

3. Homo sapiens [Option ID = 18718]

4, Gracile Australopithecine [Option ID = 18717]

Correct Answer ;-
» Robust Australopithecine [Option ID = 18720]

70) Half-life of Radioactive decay in Carbon 14 dating is [Question ID = 4717]

1. 4730 years [Option ID = 18866]
2. 5730 years [Option ID = 18865]
3. 5880 years [Option ID = 18867]
4. 6730 years [Option ID = 18868]

Correct Answer :-

» 5730 years [Option ID = 18865]

71) What is acclimatization?
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[Question ID = 4687]

1. Refers to phenotypic variation with differential fitness [Option ID = 18745]

2. Refers to physiological changes that arise in individuals who have lived in certain set of environmental condition [Option ID = 18746]
3. Refers to bio-chemical changes in blood [Option ID = 18748]

4, Refers to short term changes in physiology that occur in response to changes in environmental conditions [Option ID = 18747]

Correct Answer :-
» Refers to short term changes in physioclogy that occur in response to changes in environmental conditions [Option ID = 18747]

72) What is velocity curve in human growth?
[Question ID = 4684]

1. None of these [Option ID = 18736]

2. Tt is the cumulative curve [Option ID = 18734]

3. It is the incremental curve or rate of growth [Option ID = 18733]
4, It is cumulative and incremental curve [Option ID = 18735]

Correct Answer :-
» It is the incremental curve or rate of growth [Option ID = 18733]

73) What is genetic polymorphism?
[Question ID = 4636]

1. Many forms of genotypes [Option ID = 18541]

2. Refers to at least two alleles, with the rarest having frequency of more than one percent [Option ID = 18543]
3. None of these [Option ID = 18544]

4, It refers to genetic diversity [Option ID = 18542]

Correct Answer :-
= Refers to at least two alleles, with the rarest having frequency of more than one percent [Option ID = 18543]

74) What does waist hip ratio mean?
[Question ID = 4685]

1. Itis a measurement of obesity [Option ID = 18738]
2. Itis a measure of skinfold [Option ID = 18739]

3. Itis a measurement of learner [Option ID = 18737]
4, None of these [Option ID = 18740]

Correct Answer :-
= Itis a measurement of obesity [Option ID = 18738]

75) Which of the following item chromosomes lack? [Question ID = 4671]

1. Histones [Option ID = 18683]
2. RNA [Option ID = 18684]
3. Centrioles [Option ID = 18682]
4, DNA [Option ID = 18681]

Correct Answer :-
» Centrioles [Option ID = 18682]

76) Which of the following is not an absolute dating methods? [Question ID = 4711]

1. Potassium-Argon [Option ID = 18843]
2. Uranium series [Option ID = 18844]
3. Fluorine [Option ID = 18842]

4. Radiocarbon [Option ID = 18841]

Correct Answer :-
*  Fluorine [Option ID = 18842]

77) Which of the following features is not related to Harappan Civilization? [Question ID = 4660]

1. Gold and Silver ornaments [Option ID = 18640]
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2. Iron Technology [Option ID = 18638]
3. External Trade [Option ID = 18637]
4, Bullock Cart [Option ID = 18639]

Correct Answer :-
= Iron Technology [Option ID = 18638]

78) If a man heterozygous for polydactyly marries a normal woman; what is the probability that their first child will have polydactyly?
[Question ID = 4625]

1. 1/8 [Option ID = 18500]
2. 1/2 [Option ID = 18499]
3. 1/4 [Option ID = 18497]
4. 3/4 [Option ID = 18498]

Correct Answer :-
« 1/2 [Option ID = 18499]

79) Broad sense heritability is given by:
[Question ID = 4620]

1. Vg+ Ve [Option ID = 18478]
2. Vg/VT [Option ID = 18477]

3. Vg + VA [Option ID = 18479]

4. None of these [Option ID = 18480]

Correct Answer :-
« Vg/VT [Option ID = 18477]

80) The article of the Constitution provides that the President may with respect of any State or Union Territory specify the tribe or tribal
communities of which shall be deemed to Scheduled Tribes in relation to the State or Union Territory [Question ID = 4692]

1. Article 342 [Option ID = 18767]
2. Article 243 [Option ID = 18768]
3. Article 344 [Option ID = 18766]
4, Article 343 [Option ID = 18765]

Correct Answer :-
« Article 342 [Option ID = 18767]

81) One of the properties of normal distribution is: [Question ID = 4630]

1. Variance one Mean one [Option ID = 18520]
2. Mean one Variance zero [Option ID = 18517]
3. Variance one Mean zero [Option ID = 18518]
4. Variance two Mean zero [Option ID = 18519]

Correct Answer :-
+ \ariance one Mean zero [Option ID = 18518]

82) Archaeologists frequently use cluster analysis to investigate [Question ID = 4716]

1. Trade [Option ID = 18863]
2. Burials [Option ID = 18862]
3. Rituals [Option ID = 18861]
4, Ideology [Option ID = 18864]

Correct Answer :-
= Burials [Option ID = 18862]

83) Of the 23 pairs of Chromosomes present in human, what is the number of autosomal pairs? [Question ID = 4672]

1. 20 [Option ID = 18685]
2. 22 [Option ID = 18687]

3. 21 [Option ID = 18686]
4, 23 [Option ID = 18688]

Correct Answer :-
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« 22 [Option ID = 18687]

84) Cluster Sampling is also known as
[Question ID = 4648]

1. Random Sampling [Option ID = 18591]

2. Quota Sampling [Option ID = 18590]

3. None of these [Option ID = 18592]

4, Area -Probability Sampling [Option ID = 18589]

Correct Answer :-
= Area -Probability Sampling [Option ID = 18589]

85) Nature -Man-Spirit complex was initially studied by [Question ID = 4702]

1. L.P. Vidyarthi [Option ID = 18806]
2. N.K. Bose [Option ID = 18807]

3. D.N. Majumdar [Option ID = 18808]
4. Surajit Sinha [Option ID = 18805]

Correct Answer :-
« L.P. Vidyarthi [Option ID = 18806]

86) Which is the chronologically earliest site? [Question ID = 4666]

1. Toralba-Ambrona [Option ID = 18663]
2. L’Azil [Option ID = 18661]

3. L'Abbeville [Option ID = 18664]

4. Willendorf [Option ID = 18662]

Correct Answer :-
« L'Abbeville [Option ID = 18664]

87) The cultural sequence of the middle Ganga plain is:
(a) Neolithic , (b) Chalcolithic, (c) Mesolithic, (d) Early Iron Age
[Question ID = 4664]

1. (a), (b), (c), (d) [Option ID = 18653]
2. (d), (b), (2), (c) [Option ID = 18654]
3. (c), (a), (b), (d) [Option ID = 18656]
4. (b), (c), (a), (d) [Option ID = 18655]

Correct Answer :-
« (c), (a), (b), (d) [Option ID = 18656]

88) The stages of participant observation is/ are
[Question ID = 4655]

1. Induced nature, shock, and discovering the obvious [Option ID = 18619]

2. Partial contact, Induced nature, and discovering the obvious [Option ID = 18618]
3. All of these [Option ID = 18620]

4. Initial contact, shock, and discovering the obvious [Option ID = 18617]

Correct Answer :-
« Initial contact, shock, and discovering the obvious [Option ID = 18617]

89) The usefulness of a hypothesis depends on researcher's

[Question ID = 4639]

1. Disciplined imagination and creative thinking, which provide at least fractional insight [Option ID = 18554]
2. Lack of keen observation [Option ID = 18553]

3. All of these [Option ID = 18556]

4, Some unformulated theoretical framework [Option ID = 18555]
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Correct Answer :-
+ Disciplined imagination and creative thinking, which provide at least fractional insight [Option ID = 18554]

90) The measures of central tendency isfare
[Question ID = 4654]

1. All of these [Option ID = 18616]

2. The variations [Option ID = 18615]
3. The maximum [Option ID = 18614]
4, The mode [Option ID = 18613]

Correct Answer :-
» The mode [Option ID = 18613]

91) The most common techniques for gathering data in cognitive anthropology is
[Question ID = 4652]

1. Pile sorts [Option ID = 18607]

2. Free listings [Option ID = 18605]
3. All of these [Option ID = 18608]
4, Triad tests [Option ID = 18606]

Correct Answer :-
» All of these [Option ID = 18608]

92) The Principle (s) shared by PRA and RRA is/are
[Question ID = 4646]

1. Off setting biases [Option ID = 18583]

2. Learning rapidly and progressively [Option ID = 18582]
3. All of these [Option ID = 18584]

4, A reversal of learning [Option ID = 18581]

Correct Answer :-
« All of these [Option ID = 18584]

93) The book "Sex and Temperament in Three Primitive Societies" (1935) by Margaret Mead was based on the material gathered from
three primitive societies

[Question ID = 4695]

1. Kung Bushman, Mundugumar and Tschambuli [Option ID = 18779]
2. Mundugumar, Eskimo and Tschambuli [Option ID = 18778]

3. Mundugumar, Arapesh and Tschambuli [Option ID = 18777]

4. None of these [Option ID = 18780]

Correct Answer :-
» Mundugumar, Arapesh and Tschambuli [Option ID = 18777]

94) The primary data are collected from
[Question ID = 4649]

1. Fieldwork [Option 1D = 18593]

2. both Published materials and Published local newspapers [Option ID = 18596]
3. Published local newspapers [Option ID = 18595]

4. Published materials [Option ID = 18594]

Correct Answer :-
» Fieldwork [Option ID = 18593]

95) The process of reasoning about the whole observed situation in order to arrive at a particular idea is

[Question ID = 4640]
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1. Both Deductive reasoning and Inductive reasoning [Option ID = 18559]
2. Inductive reasoning [Option 1D = 18558]

3. Deductive reasoning [Option ID = 18557]

4, None of these [Option ID = 18560]

Correct Answer :-
» Deductive reasoning [Option ID = 18557]

96) The kinship principle of tracing membership in a kin-based corporate group through a sequence of ancestors [Question ID = 4690]

1. Phratry [Option ID = 18757]

2. Moiety [Option ID = 18759]

3. both Phratry and Descent [Option ID = 18760]
4. Descent [Option ID = 18758]

Correct Answer :-
+ Descent [Option ID = 18758]

97) Phenomenology, a philosophical movement which has been influential in the social sciences and in anthropology, was pioneered by
[Question ID = 4698]

1. Max Gluckman [Option ID = 18792]
2. Mc Douglas [Option ID = 18789]

3. Edmund Husser| [Option ID = 18790]
4. D. Schneider [Option ID = 18791]

Correct Answer :-
+ Edmund Husserl [Option ID = 18790]

98) Factors that change gene frequencies are [Question ID = 4674]

1.  Random mating [Option ID = 18694]

2. National Selection and mutation [Option ID = 18693]

3. Both National Selection and mutation and  Migration & drift [Option ID = 18696]
4, Migration & drift [Option ID = 18695]

Correct Answer :-
= Both National Selection and mutation and  Migration & drift [Option ID = 18696]

99) Inbreeding increases:
[Question ID = 4628]

1. Homozygosity [Option ID = 18511]
2. Heterosis [Option ID = 18510]

3. Heterozygosity [Option 1D = 18509]
4, None of these [Option ID = 18512]

Correct Answer :-
» Homozygosity [Option ID = 18511]

100) A cross between two tall plants produces 775 tall plants and 388 dwarf plants. What is the closest phenotypic ratio? [Question ID =
4624]

1. 3:1 [Option ID = 18493]
2. 1:4 [Option ID = 18496]
3. 2:1 [Option ID = 18495]
4, 2:2 [Option ID = 18494]

Correct Answer :-
« 2:1 [Option ID = 18495]
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